CHAPTER 45

-+, = ‘iccs A = .0 A
d A —gnn: 7 J %ﬂ\e;_- ‘a
V = lkmfh = V= 027¢mk =7 -Q = 1.8 H.
V = Skm/hy 3 y= 1.29 mfs = f =903 Hz
V= Iookmth = V= .Y "‘/5 %—@—‘ I90.5 HZ
V100 =V F 218 mls L gen

S @ 1 kmfy, spechrad edges ace  1949.9030982 mb
ond 1AsD. 00O S mHz

©@ Skm/py s Speciral edges are 1943.999a9097 mHe
and [R50, 0000003 mihe

@10km |, » @dges oce 1949993 8195 mW=

and |qso,OOO\?O‘5 muz_

1000 \'.m/h \edges ore (4] 999125 m Wa
e Y 1950, 00195 mHa

Yo



&l
AW
i

A A

&

I~

%

2

; I—%r Lok
{ ‘Fo.d l. n9
5%

10 s, ~or -ﬁo-+ ‘pod "'29

94



— — +0dx)5 1048 xl00 .
56| Fr(@® . T= X0+ 1X50 = 277500
/t1+0/+00)

5 = X015 0 A75 00N 2 g3 3 (157
{+1F0/+ 0.0/

= the rms delay spred Ot = [jp3-27p57 =27 (nS)

Since % Sou, TsZlotr =2]ons
=> Soalfest sy mébol fenm{ /Sinin = 27°ﬂ>
ﬂr@iesi da&f rale Rmx— ~ = 3. 7Mb/>$
Fd)’ 75 ;[:: 0-01X0 +0/X5 + IX]0 = ?46 (4(()
AL bl oo/f0/+) )
=2 — 00lXo+4 o X5 % 1X0° _ . :
i PP Top = 9234 (¢s°)

O SNT- () = pst-(zay = /6B 4
Tomip = /0 67 = 16.88 (MS)  Rog = 7;’ — = 5925 kbps

P \—’ZZ'L—Tﬂ

—_ )
57 @ T =i kbps = 073 _9___—;,__t_=-—\9—5——
hb('c) ' .
—lesr f 6 é']!é—rs =7 flot fodieg

-+
—rsé_\Odt ‘-f-"l"é%

v =28 = -
(®) ’?3_7\ ;—cf’=3\08/5<l‘oq~ e
f e~
5280° 12!, 258 1
miles . the . ‘ ; M oo™
Ve\oc\_\_y = _.3_9—*’\-;———’ ‘W‘éec (m\\e \ |
30-5280°12°254 _ 13 wf
300 * \ P



57 (Cont'd.
Coherence_T.me Define 2% ]
Te 27 =[ccods ]
T- xiﬁn = =5 -[oe=zs ]
(®) Here we bowe -Q; = 200H; T8 0%, T o= 10%
slow foding S T <€ T e WS« \O?

Siow

H pbits Séf\"‘ = Qb“rs = 10 . ‘ci 0 Lg—(?—

d) pfch your T , +hen

58| For (e, the ol Garelation Colsrence bandwidth s

A

/ -
2607 5_"07 = Toxz7(nsy — /40 kHz

te 507 Cme&l«‘m Coterence  bandmidth s

Beos = 5@,{ = 7.4 MHZ
i ! -
/EW’ (6) , 360-7: 506; .50)(/‘688(/(5) "‘-//'85 kh’?
7 .
Co-5 = = .
Beos Sor = /85K



E_/_/—: P(r<,?):[5‘fcr)dr

4

= [ Leplzh)dr

206 ?

- R I 2
= Zzlf(’ —OT';@?(:L)J[}'Z
7

zo2
1 R _E

> fo 5* expl5 At
=75 /—20")-€x/>(;—;;)xfz
= /- =R
/- ep (s

For P=-JodB =03/6. fwtenzge o]‘ lime that A 57/@[ |
25 (0B o7 mae below The Tms yalu far a ?y/g% ]&Jﬁ
Sgﬁf‘ﬂf v R, = exlo(’{’z): /- e»{/:(—o-slé’) = ?-5Z .,

5EF (@ Since Ne= J_z?r‘ﬁ,-f’e"’:) the rakeo 7‘w desired
Sfj/m[ level T Tms$ 57,‘&[ leps! That maximizes Mp 8

%q Soludian 7f thp eimlian

/AN 0 => ﬁ%‘fm-(/—zf’) ef=0

= j-2p%0 => P= 7= -2dB

) 3
T Goo xt0° =033 () V= 50”0”5/}’-87/4/5

3600 sgc

2%



